SCHOOL BASED ASSESSMENT 2022
MODEL PAPER
GRADE 7
MATHEMATICS PART - A (Objective Type)

[Paper A: 48 Marks, Paper B: 52 Marks, Total: 100 Marks]
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General Instructions for students : ey S i b

1) Use mask & keep at least 3 ft. distance from each other.
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2) Read carefully and attempt all questions.
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3) Encircle the correct option of each of the Multiple Choice Questions (MCQs) as shown in the example given below.
e VW B T2 S foim 128 L e S0y
Example: 64+8=
a) 4 b) 6 © 38 d) 12

4) If more than one options are encircled in a question, no mark will be given.
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I Total Marks: 48 I Part-A (Multiple Choice Questions) I Total Time: 1 Hour I

Instructions: Thirty two (32) Multiple Choice Questions (MCQs) are given in this paper. Each question carries 1.5 marks.
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Question No.1: Theset A = {a, e, 1,0, u} is written in the form:
_4"_,‘@.) . {a,e,i,0,u}esr 1 A Jiv
(a) Tabular J.U,Cl (b) Descriptive =l
(c) Set builder b :] (d) Power set r ;,,‘"
Question No.2: If A={1,2,3,4} and B = {1, 2, 3},then A — Bwill be:
€A —BInB={1,2,3}8A=1{1,2,3,411 2 # Jir
(a) {1} (b) {2}
(c) {3} (d) {4}
Question No.3: IfU = {l,m,n,o}and C = {0}, then complement of set C is:
— &LQJ;.IKC&.&;)?C = {o}»IU = {l,m,n, 0}/'/! 3 4 Jir
(a) {o,1,m} (b) {l,n,0}
(c) {l,m,n} (d) {m, n, o}
Question No.4 : Which of the following is a rational number?
?‘LJbt)ﬁVufaufJ:}@u 24/J!r
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Question No.5: The sum of %and 19—1 is:

- ,&r{ K%A!% :S/J!/

(a) % (b) 27

77
(c) &2 (d) &
Question No.6: Solve % — %
3 1 e A
oty S 6 AU
(a) & (b) — &
(© % ()%
Question No.7: Additive inverse of — % is:
_6Lu’:g“‘ J‘?K—% :7/7‘;J|/
@ -3 (b) -2
(2 (d) +
Question No.8: The multiplicative inverse of —% is
- U~ Vd e 8 & Jir
(a) = (b) &
©—3 -2
Question No.9: By converting 0.24 to a rational number, we get:
_%anba,é./dfuf)ﬁg}bt/024 !9/1‘/Jir‘
(a) = (b) o=
(c) %_g (d) 3—;‘
Question No.10: Which of the following is a terminating decimal fraction?
S M35t S S e ST 110 £ Ui
(a) + (b) 5
(c) 2 (d) 2
Question No.11: In (5:cy)7, the exponentiis:
- Vs o~ (5my)7 11 /Ji/
(a) (b)
(c) z (d)y
Question No.12: Solve (%)2 X (%)3
2 3 /
(3) % (3)' /S 12 A Ui
@ (§)° ) (5)’
©(3)° (@ (%)’
Question No.13: Solve [(—%)3]6
316 ;
[(—%) } q/d’ 13 & Jiv
@) (—4)° ) (-4)°
© (—4)° @ (-4)"
Question No.14 : Which of the following is a perfect square?
?‘gd/Jiwvu/‘«,uﬁJ";@u :14/J|/
(@)9 (b) 12
(c) 14 (d) 24
Question No.15: The square root of 784 is:
e e 6784 115 A Jiv
(a) 22 (b) 28
(c) 32 (d) 38
Question No.16: 6 boys complete a work in 5 days. In how many days will 10 boys complete the same work?
?ZQ/J"(U: U XL 10/&51-@:2_/&(& 5 L%/(K.,g 16 A Uiy
(a)3 (b) 5

(c)6 (d) 10



Question No.17:

(a) 15
(c) 198

Question No.18:

(a) Rs 5100
(c) Rs 6100

Question No.19:

(a) 04%
(c) 10%

Question No.20:

(a) Rs 1200

(c) Rs 3000

Question No.21:

@z 3+1

Qa + 22—z +7

Question No.22:

(a) Monomial
(c) Trinomial

Question No.23:

(@) x-y
(c)3x-y

Question No.24 :

(a) 2 x2
(c) —2 ¢

Question No.25:

(a) 4
(c) 12

Question No.26:

(a) £30°, £45°

(c) Z 80°,/100°

The speed of a racing car is 55 meter/second. Its speed in km/hour will be:

_fnu:J&ﬁ%ggu”w_‘gﬁéd}fssg;@h@wg 117 A Jis
(b) 30
(d)91e6

Tax at the rate of 3% on the property of Rs 201000 will be:
K ngﬂl e L Z 33 £ &k d/d“_u 201000 :18 # Jir

(b) Rs 6030

5100 &3 6030 s/

6100 &s (d) Rs 7050 7050 &/

Jawad bought a mobile for Rs 60,000 and paid a markup of Rs 24,000 for 4 years. Markup rate is:

e UA S o S b 29524000 ot SAE Jb e sl L P UE 20 60000 ¢F LT 512 219 # Ui

04 44 (b) 05% 05 44!
10 44 (d) 40% 40 44

Annual saving of Waheed is Rs 120,000. The amount he will pay as zakat is:
ce (838 U1 e 290120000 25 20l § aes 20 4 Ui

(b) Rs 1500

1200 &-»/ 1500 &<

3000 &2/ (d) Rs 4000

Identify the polynomial:

4000 &3/
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(b) z? + z? +3x — 2
dz* +23 +222 —2z—7

The polynomial 9a+13b+c is:

e 9at13bte s 222 A Jir

(b) Binomial &0

1Y
; <Ml d/}l

02/ -~ (d) Algebraic equation
Solve (z — 2y +2) — (—2z + y + 2)

(—2y+2)— (20 +y+2) S S 23 #J»

(b) 3x-3y
(d) x- 3y
Solve (22 — 3?) — (2% +¢?)
(332 — yz) — (:1:2 —i—y2) u:/'/‘f 24 A J!r
(b) —2 x>
(d) 2 ¢
The solution of the equation %x = 8is
- Ja Kix = 8= lol+ 225/7‘;J|r‘
(b) 8
(d) 32
Pair of complementary angles is:
—e Uz KUl d/fg 26 & Jiv
(b) £50°, £40°

(d) £90°, £120°



Question No.27:

(a) 15°
(c) 105°

Question No.28:

(a)14 cm

(c)22 cm

Question No.29:

(@) 176 cm

(c)616 cm

Question No.30:

(a) 3.14cm?

(c) 9.42cm?

Question No.31:

In the given figure, the value of angle z is:

- I u(x,ﬂ) e J@ Cfd; :27/:} Jis

5

(b) 90°
(d) 180°

The circumference of given circle is:

- bF K715 Z ) :28/?‘;(_]!/

144 (5 (b) 21 cm 01 2 S
99 4 S (d) 44 cm s

Area of given circleis:

—e Fs 6 & ) 29 # Jis

176 4 & (6)176 em? 176 % &5 & s
616 < & (@616 cm? 616/< 5 &
If radius of a cylinder is 1cm and height is 2cm then surface area of cylinder will be:
-Knjwffd//fwin}fﬁzég,l St sl s 2§ 1006 2k L1030 A i
3.4 4 6 8 (b)&.28cm? 6.28 % & & s
90.42 X 5 ¢, (d) 18.850m? 18.85 % & ¢,

In the class interval (41 — 70) the lower class limit is:
e w §la gt ES §le £(41 - 70) 31 4 Jir

(b) 55.5

(d) 111



Question No.32:

(a) Poetry

(c) Autobiography

The following pie graph represents sale of different books, maximum selling books are:
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